B RO A L AR,

W (-2, 2 @ 12

@
8=a x4?

16a =8

ool
T2

YoT, ABREKy =122 D57 LIibhons, ro—20E

2
_L Zop=
y=- X(=2/=2

U=M>T, BOEZL (-2, 2)
2 L OB %:1
£oT, L DRFy=2+b BT,
y=z+b Zzx=4, y=8 2RATD L
8=4+1b
b=4
UL7MoT, L DRIE  y=zx+4
Eifl Ly HIORRECLTHL
AOAB=A0OAC+AOBC

le4X4+iX4X2

2 2
=12

32

2/ A, BOy EEIR, £6I2-8THb,

y= —%xz IZy=—-82RAT5HL

1 »

z2=16
r=+4

£oT, ADERI (-4, —8), BRI (4,

HARBSy=az’ DITI T EIZHDNE, y=az’lz=4, y=8 2RATDL

AB=4x2=38

Lo T, AOAB DEHIE %x8x8:32

(1) a=2 (2) 26% —b+6 (3 (% %)
1) RARBBy=—2+6DIFT7LIZHENE, y=—2+6l2z=—2%RATHL
y=—(—2)+6=38
EoT, HADEEX (-2, 8 Thb,
ARBERy=a2z’ DT 57 EIZEHZENG,
y=az’llz=-2, y=8 BRAT B L

8=a X (—2)?
a=2
2) HEBIREKy=222DT5 7 EIZHEN6, y=2221l2=0 2RATE &
y=2b2
B3 y=—2+6 DT T EIZHENE, y=—2+61l2=b ERATE L
y=—b+6
2b%, —b+6
(3) (2 &V 2b%=—b+6
26*+b—6=0
(b+2)20—-3)=0
b=-2, %

b —2 THENG b=%

2o (3V_9 1y = g <§ 2)
% _2x(2> =2 XV, ABOLEE N




